Calcula el valor de la incégnita de las siguientes ecuaciones

a)3x—4=x+4

b)2x +4—-3x=3+2x+1
c)3x+4—-54+2x=3x-3
d)7—4x=2x+3—x
e)5x+7—-5=4x+2
7x+5—4+2x=4x+3 — 2x

g Ax +5x—4+2=x-2
hW7x+3x—2+7=2x—-2+x
D4x+5x—4+x=3+3
N7x+2x—4+5=-2x—-2+6—x
k)4x +2—5x =2+ 2x
Déx—3=4x—-3x+7
m)5x—3+4x=4+7x—6
n)5x—5+3x—2x=4x+3
m)8x+1—4x+6=2x+4—x
n4x+2x—7=4x—-1-2x+2
0)4x+2—-7+6x=2x—4x+5
P)7x—4x+6—x+2=3x—-6+x
QD4 - (x—1)+4x=2x—-3+5
m)4-(x—1)+3x=4—-2x
0)4x+3(x—1)=6—(x+1)
P)3x+4x—(2x—-3)+3=—-(x+1)+1
Q9 —-2x+3-(4—-2x)=4-7-(x+1)+ 2x
N2-3-2x)—3-(x+2)=0

) =3-(x+1)+2-2x—-3)=3x+5

x—2-(x—2)+3x=2-(x+1)—2x

Sol:x =4
Sol:ix =0
Sol:x = —1
Sol: x = g
Sol:ix =0
Sol: x =%
Sol:ix =0
Sol-x = —1
Solix =1
Sol: x :%
Sol:x =0
Sol:x =2
Sol: x :%
Sol:x =4
Sol:x = —1
Sol:x =2
Sol: x =%
Solix =7
Sol:ix =1
Sol: x =§
Sol:ix =1
Sol:ix =—1
Sol:x =8
Sol:ix =0
Sol:x = =7
Sol:x = —1



Resuelve las siguientes ecuaciones con fracciones
a)g— 5=-3;Sol:x=6
2x
b)?—S =1;Sol:x =9
3x 1
c)7+ 5= x+§;Sol:x =-9
2x 1 5
d)?— 3 =§—x;50l:x = >
3x 1
6)7— 2=12 —E;Sol:x =9

2x ) 1+ Solix — 9
f)3 —Zx,o.x—2

4+2 =3 +1 Sol:x =1
g)§ x =3x §,0.x—

x+3

h) —9==-2x;So0l:x =4

2x —4
i) z —4=-2x+12;Sol:x =7






